
 
 
  
 
 

(c) 2011 Total Cost Involved Engineering, Inc. All Rights Reserved 
1 

 
1947-1954 Chevy Pickup Manual Brake Pedal Kit 

Install Sheet  
1-866-925-1101 

www.totalcostinvolved.com 
 

CHECK ALL PARTS INCLUDED IN THIS KIT TO THE PARTS LIST BEFORE INSTALLATING OF THE KIT. 
IF ANY PIECES ARE MISSING, PLEASE CONTACT: TOTAL COST INVOLVED 800-925-1101 

1. The rail bracket bolts to your frame using four each of the 3/8-24x1" bolts, 3/8-24 nylok nuts, and 3/8 washers under the nuts.  
 

2. The pedal bracket bolts to the rail bracket using four each of the 3/8-24xl" bolts, 3/8-24 nylok nuts, and 3/8 washers under the nuts.  
 

3. The pedal slides on to the round pivot bar and is secured with the 1/2-20xl" bolt, 1/2" flat washer, and 1/2" lock washer. 
  

4. Bolt the booster bracket on and thread a jam nut on the push-rod followed by the 3/8" female heim. Thread the heim so that the pedal has 
as much stroke as possible without it being topped-out. Then, bolt the heim on using the 3/8-24xl 1/2" bolt, 3/8-24 nylok nut, and 3/8 
washer under the nut.  
 

 

Parts: 
(1) Rail bracket (1) 3/8" female heim 
(1) Pedal bracket (1) 3/8-24xl 1/2" bolt 
(1) Pedal (8) 3/8-24xl" bolt 
(1) 1/2-20x1" bolt (9) 3/8-24 nylok nut 
(1) 1/2x 1-1/4" flat washer (9) 3/8" flat washer 
(1) 1/2" lock washer     

 
 


